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i) The expression for half ife is 2 P o0 1 T & ,
(a) Th=0.6931/2 () ge-Frn-d (7) g
(b) Th=(0.6931)A (/) Ferdi s (T) Seri/EIOHR
(¢) Th=1.32/A - iv) The unit of electric field is not equivalentto 2
(d) Th=0.6931/2° ‘ (a) N/C (b) 3/C
AU T F o AT 2 (c) VIM. (d) J/CM
(M) Th=0.6931/A (&) Th=(0.6931)% gt &9 1 T g TR
g (#) Th=1.32/A (3) Th=0.6931/A2 | (1) NIC (@) 3/C
5 i) Image formed by a concave lens isalways. 2 , (7) vim (7) IICM
% (a) Real and Inverted v) Intensity level of normal talking is 2
= (b) Virtual and erect (a) 0 Decibal (b) 10 Decibal
8 (c) Virtual and inverted (¢) 120 Decibal (d) 60 Decibal
(d) Real and erect - TR S & adal TR 2t 2
JAA o9 F B Wi o1 2 wed (=1) 0 ¥ (&) 10 T
() aweriores SR St (}1) AL SR HiEn (@) 120 Raa (7) 60 T
(@) vt R T@ (3) It AR A
iii) Unit of specific heat is 2 2. a) In a microscope ! cm is divided into 20 equal
(a) Joule-kg°c (b) Joule/kg°k part. If 50 small qivision of vernit.:r arc‘equa! to
: the 49 small divisions of the main scale. Find
(c) Calikg™e (d) Calkg’k the east count. 6
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b)
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method. 9

Fena s B | 59 & UT T SR HRAC)

b) Prove that C-C,,=1.98 cal. 9
R &0 C,-C, = 1.98 Fandll
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wh geeeelt § w20 Rl A T § SR
a3 F 50 W gEm TN & 49 WEl
F R Y TEIHF T B

Explain why cream particles separated from
milk with cream separator. 6

FIW R ¥ 79 ReF W S T 8 Sl

3 e |

Explain why banking of rail or tracks, prove that
)

angle banking is #=tan™ L 6 -

rg

TTAET i R 9&H| 3H I AR & FHE
i @ A 2 e ST S gea & am

2
d=tan™' - B 2l
g

3. a) Determine the surface tenston by capillary rise
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4. a) ~ A car start to move from rest its velocity is 108
Km/hrs in 10 sec.
i) Calculate acceleration
i1) Initial 10 sec. calculate the distance travelled

by car. : 6

UF FR Rmweren § 9wy et 310 S
5w 9 108 frdiaver @ am

) I H W A
q) A 10 S ¥ B AW T T 3 9w
EHEN]

b) Define viscosity on which factor viscosity of
liquid depend. ‘ 6
W FI TR Rt &% # A B e
R A et 2

¢} Obtain the Boyles law and Charles law from the
pressure expression of kinetic theory of gases.

| 6
19 W A a9 % g3 | 99w iR T ¥ P

F I B
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In a hostel of 100 rooms, each room has one buib
of 60W, a tube light of 40W and a fan of 100W,
Find the cost of running 6 hours daily in the
month of May. Ifthe rate of Power consumption
is Rs. 1.50 per kwh. 9

100 &Y AT BHEETE F YdF R ¥ T 60 ar
P T, 40 AR A TE AZE AR 100 q1€ A9
& A1 S weft wialed 6 2ot 7w & A wE W

-ﬁmaﬁﬁm?ﬁgamaﬁazlsoaﬁ

Wialehaiiame =oet 2|

Draw the ray diagram of an astronomical
telescope. When final image is formed at least
distance of distinct vision. Derive the formula
for magnifying power. _ 9
AR @ w1 Tmw fw TR we et
hdfer w3 & e g W aan 2 qeshi
%l Fde gal F1 9 fag il

Derive the formuta for Paraliel combination of
capacitor. 6

TR FH N TARE I3 8 Al F Guha ¥ R
g7 fre wifvm)
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Derive Einstein's photo electric equation. 6
IERM & RS- i # gm #ib)
A bulb is rated 100W, 200V. Find its resistance

and maximum current that can be flow
through it. 6

T 959 6 S 100W, 200V Foran 31 2eem iy
U 3HH G A AEaH AW W uE o
T

Explain'working of Carnot cycle. 12
HMHEE F HE JOMAT SR

Prove that F_-F =W.Fy, Where W is dispersive
power and Fy is mean focal length. 6

Mg FC B ¥ F =WFy, 7 W fégu
&P a1 Fy Wea Wiy g 2

Explain flow of current in P-N Junction diode.
12

P-N &Y S ¥ a1 e ) 9EE
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